[INFINITIVES WITH ‘TOO’ AND ‘ENOUGH’]

CHAPTER-03

INFINITIVES WITH ‘TOO’ AND ‘ENOUGH’

Fill in the correct word (too or enough).

1. | left the coffee for a minute to cool because it was | = hot
to drink.

He wasn't strong | ~| to lift that heavy box.
There aren't | =l policemen in our town.

Do you have | ~| information to help me with this problem?
It is | ~| difficult to do for a little child.

| do not have | =l much time to prepare dinner.

| didn't buy the car because it was | K expensive.

He didn't work hard | = to pass the exam.

My mum can't sleep because she drinks | ~| much coffee.
10. She isn't old I = to start driving.
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Instructions: Choose the correct answer.

Q1 - The coffee was hot that | couldn't drink it.
“ so
“ too
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“ very

Q2 - The coffeewas _____ hot to drink.

© so

“ too

“ very

Q3-Thebuswas __ crowded.

“ too

“ very

© Either could be used here.

Q4 - There were far ___many people there.
“ too

“ very

© Either could be used here.
Q5-Iltwas___ good that | rushed out and bought it.
© so

“ too

“ very

Q6-Itcost  much.

© so

“ too

“ very

“ All of them could be used here.

Q7 - many people think the way | do.
© So

© Very

© Either could be used here.

Q8 - He was ___rude that | lost my temper.
© so

“ too

© very

© All of them could be used here.
Q9-Wasit___ expensive to buy?
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SO
too

very

All of them could be used here.

Q10 - It cost _ much that | didn't buy it.

© so

“ too

“ very

“ All of them could be used here.

Q11 - If he doesn't stop being _ rude, I'm going to lose my temper.
© so

“ too

Q12 - We can use the structure- very + adjective + infinitive.

“ True

© False

1 R B B |

Exercise 1

1 You are very young. You can’t have a front-door key.

2 ltis very cold. We can’t bathe.

3 Would you be very kind and answer this letter by return?
4 1 am rather old. | can’t wear that kind of hat.

5 The ladder wasn’t very long. It didn’t reach the window.
6 He hadn’t much money. He couldn’t live on it. (Omit it.)
7 He was furious. He couldn’t speak.

8 The fire isn’t very hot. It won’t boil a kettle.

9 Tom was very foolish. He told lies to the police.

10 You are quite thin. You could slip between the bars.

11 He is very ill. He can’t eat anything.

12 Our new car is very wide. It won’t get through those gates.
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Exercise 2

13 The floor wasn’t strong. We couldn’t dance on it. (Omit it.)

14 | was terrified. | couldn’t move.

15 The bull isn’t big. He couldn’t harm you.

16 The coffee isn’t strong. It won’t keep us awake.

17 The river is deep. We can’t wade it. (Omit it.)

18 He is lazy. He won’t get up early.

19 He won’t get up early so he never catches the fast train.

20 Would you be very good and forward my letters while | am away?
21 The ice is quite thick. We can walk on it. (Omit it.)

22 He was very drunk. He couldn’t answer my question.

23 It is very cold. We can’t have breakfast in the garden.

24 He was extremely rash. He set off up the mountain in a thick fog.

Exercise 3

13 The floor wasn’t strong. We couldn’t dance on it. (Omit it.)

14 | was terrified. | couldn’t move.

15 The bull isn’t big. He couldn’t harm you.

16 The coffee isn’t strong. It won’t keep us awake.

17 The river is deep. We can’t wade it. (Omit it.)

18 He is lazy. He won’t get up early.

19 He won’t get up early so he never catches the fast train.

20 Would you be very good and forward my letters while | am away?
21 Theice is quite thick. We can walk on it. (Omit it.)

22 He was very drunk. He couldn’t answer my question.

23 It is very cold. We can’t have breakfast in the garden.

24 He was extremely rash. He set off up the mountain in a thick fog.
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